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Exercises and Questions – 1

Exercises on the Classical Model

FE363 Fall 2002 Professor Schmitt – Due September 13th 

1. Assume that the velocity of money is constant. If the real GDP is expected to grow by 3% per year, and the money stock grows by 7% per year – 

a) What is the rate of inflation?
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inflation = 7% + 0% (constant V) – 3% = 4%

b) What are the social costs of this expected inflation?

If it is expected, 
There are shoe leather costs more frequent trips to the bank. 
Firms change their prices more often (menu costs)

Distorts relative prices which causes a misallocation of resources. 
Bracket creep in tax brackets.  
c) What is the real interest rate per year if the nominal interest rate is 5%? The ex ante real interest rate is

r = i - ( = 5% - 4% so the ex ante real interest rate is 1%

d) Suppose now that the real GDP grows by 1% and that the Fed does nothing differently to the money stock – that is, the money stock still grows by 7% per year. What is the rate of inflation now?
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inflation = 7% + 0% (constant V) – 1% = 6%

e) What does Fisher’s equation imply will be the result of this new inflation on nominal interest rates?

Fisher’s equation shows that when the inflation increases by 1%, so does the nominal interest rate.

f) What is the actual real interest rate per year if the nominal interest rate does NOT change, that is it is still 5%? The ex post real interest rate is

r = i - ( = 5% - 6% so the ex post real interest rate is -1%

g) After realizing the true growth in GDP – and therefore calculating the ex post real interest rate – what are the social costs of inflation if this new rate of inflation was not expected?

a. Redistributes wealth among individuals.  Real wealth is shifted from lenders to borrowers when inflation is higher than expected

b. Decreases the purchasing power of those on fixed incomes.

c. Disrupts financial markets. 

2. Suppose you are advising a small country (such as Bermuda) on whether to print its own money or to use the money of its larger neighbor (such as the United States). What are the costs and benefits of a national money? Does the relative political stability of the two countries have any role in this decision?

The major benefit of having a national money is seigniorage – the ability of the government to raise revenue by printing money. The major cost is the possibility of inflation, or even hyperinflation, if the government relies too heavily on seigniorage. The benefits and costs of using a foreign money are exactly the reverse: the benefit of a foreign money is that inflation is no longer under domestic political control, but the cost is that the domestic government loses its ability to raise revenue through seigniorage.

The foreign country’s political stability is a key factor. The primary reason for using another nation’s money is to gain stability. If the foreign country is unstable, then the home country is definitely better off using its own currency – the home economy remains more stable, and it keeps the seigniorage.

